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63. 其前：In some quarters =in some districts其后：over the unacceptable ways of youth ：should be some elder people词语本身:shaking of graying heads 
64. Para2line2: However, any marriage entered into as an escape cannot prove entirely successful.Para3line2: Satisfactory marriages are determined not by how old one is, but by the emotional maturity of the partners. 
65. Para2line2: However, any marriage entered into as an escape cannot prove entirely successful.Para3line2: Satisfactory marriages are determined not by how old one is, but by the emotional maturity of the partners. 
66. Para1:topic:emotional maturity does not grow with age.Para2: improper purpose for marriage:escape from unsatisfying home life or solving loneliness Para3: conclusion:Satisfactory marriages are determined not by how old one is, but by the emotional maturity of the partners. 
67. P2L2: The camera can then detect metallic and nonmetallic objects hidden under clothing on still or moving subjects without showing any body detail.68. P1L1: making it a potentially effective tool to prevent terrorist attacks in public places.. P5L6: they are willing to put safety before privacy concerns.69. but others said they are willing to put safety before privacy concerns. 70. Some experts said the privacy violation of the camera was not worth the benefit. 本段的topic sentence。 如有不理解,分析下文。 “What we should consider is how much we want to lose our privacy in order to obtain a sort of national security,”我们要失去多少隐私来换取国家安全，值得考虑，显然有质疑。 said David Murakami Wood, director of the Surveillance Studies network, which deals with surveillance and privacy problems. “In most cases this isn’t real security—it’s a sense of safety that has very little real effect.” 那不是真正的安全感，没有真正的作用。否定安全概念。联系“质疑”我们能看出topic  sentence 的意思是不值得用侵害隐私来换取一个所谓安全感 所带来的益处。
